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i MECHANICAL REASONING
& DIRECTIONS
gg\ Find the space for Mechanical Reasoning on the Answer Sheet.

This test consists of a number of pictures and questions about those pictures. Look at the two

f“ examples below, to see just what to do. '

g} _Example X .
£

i Which person has the heavier load?
{cz (If equal, mark C))
£y

t

b

g Examplg Y.

% Which weighs more?
% (If equal, mark C))

Example X shows a picture of two peopie carrying a typewriter on a Bqa’fa and asks, Which
person has the heavier load? (If equal, mark C.) Person B has’the heavier load :because the

weight is closer to him than to person A. Therefore, the circle for B has been £l
of your Answer Sheet. ]
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Now do the next one, Examplé Y, yourself. Mark the correct space on lmeYeyom-Answer Sheet,
Example Y asks, Which weighs more? (If equal, mark C.) As the scale is perfectly balanced, A
and B must weigh the same, so you should have filled in the circle for C on line Y of your
Answer Sheet. o

On the following pages. there are more pictures and questions. Read each question carefully,

look at the picture, and mark your arniswer on the Answer Sheet. Do not forget that there is a
third choice for every question.

You will have 30 minutes for this test. Work as rapidly and as accurately as you can. If you are
not sure of an answer, mark the choice that is your best guess.

DO NOT TURN THE PAGE UNTIL YOU ARE TOLD TO DO SO.
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1.

on should the cork-

In which directi
k it further

screw be turned to wor
into the cork?
(If either, mark C.)

2.

For this balloon to stay up, th

the bag must be: ‘
(A) heavier than the surrounding air;
(B) lighter than the surrounding air;
(C) the same as the surreunding air.

> gas in

3.

‘Which is the better way for an astro-
naut to signal to a companion on the

moon?
(If no difference, mark C.)

4,

Which truck will turn over more

easily?
(1f no difference, mark C.}

%& Which person can lift the weight more
ik easily?
C)

st

(If no difference, mark
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6.

When the top pulley turns in the direc-
tion shown, which way will the lower
pulley tun?

(If either, mark C.) !

7.
Which tread should move more slowly
for the tractor to tum in the direction
shown?
(If neither, mark C.) .

e

8. ’
When the right-hand gear turns in the
direction shown, which way does the
top gear turn?
(If neither, mark C.)
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9.
In whlch p_i‘cfﬁre can the ferry cross the

river.more quickly?

(If no difference, mark C.)

Which shaft will tumﬁi-ést_"‘:slowiy?

GO ON TO THE NEXT PAGE [



11.
Which way has this bed just been

rolled? :
(If either, mark C.)
_ 12,
" MIRRORS §oi] 57 In which pictare can the-woman see

whitis happening behind her?
(If no difference, mark C)

13.

Which horse must go faster to hold its
place on the turn?
(If neither, mark C.)

: 14. :
Which chain alone will hold up the

 sign?
(1€ either, mark C.)

15.
.. Which gear turns more slowly?
(I nt;-differencé,_md?k cy .-
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.16,
Which is the harder way to carry the
hammer? _ '
(If no ‘diFf_-ere'nce, mark C.) -

17.
In which picture are the children whirl- -
ing faster?
(If equal, mark C.)

18.

In which picture are the books more
likely to knock over the bookend?
(If no difference, mark C.)

i
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19.
Which way will pulléy “X”* turn?
(If either, mark C.)
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920, .
Whiick letter shows the best place for
a chain support? :

GO ON TO THE NEXT PAGE [



21. g
When the left-hand gear turns in the
direction shown, which way does the

right-hand one turn?
(If either, mark C.)

22.
Which picture shows how this wooden
circle will stand?
(If neither, mark C.)

23.

Which box weighs more?
(If equal, mark C.)

A

24. -
Which is the easier way to break the
twig?
(If no difference, mark C.)

25. |
In which picture are the magnets placed ..
so as to attract each other? :
(If both, mark C.)
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26. o
Which one piece of cable will give this
pole the best support?

27.

Which horse will jump more when it is
pulled? . "
(If no difference, mark C.)

28.
When the dfiver turns in the direction
shown, which way will the left-hand
gear turn? :

(If either, mark C.)

29. :
4 rWhic_h hook: supports morewmght?
(If no difference, miark c)y

30.
Which roller turns the same way as the
roller at “X”’7 - .
(If both, mark C.)
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31.

In which picture will the scales read
higher {more weight)?
(1f equal, mark C.)

. 32.
When the brake is put on, which part

_gets hotter?
(If no difference, mark C.)

33.

Which person must pull harder to lift
the weight?
(If no difference, mark C.)

34.
. Which car is less likely to roli?
(If no difference, mark C.)
A7
R N | _ 35. .
/ A At which point was the ball going

faster?
(If no difference, mark C.}
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36.

In racing around this track, which
wheel travels further?
(If equal, mark C))
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37.

Which’ gear turns the samie way as the
driver?
(If neither, mark C))

.
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38.
Which way will the hands of this clock
seem to turn when seen in the mirror?

(A) In direction A.
(B) Inxdirection B.
(O) It depends on the time of day
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-39.
Which weighs Jeast? :
}

40.

Off which side of the road is the car
more likely to skid?
(If no difference, mark C.)

GO ON TO THE NEXT PAGE [
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Which shelf is s'trongef?
' (If no difference, mark C.)

42.

In which picture. wﬁl the timer t:ck
more slowl§? :

(If no difference, mark C. )

43.

When the upper wheel turns in the di-
rection shown, the’ top of wheel X
will go:

(A) steadily to the right;.

(B) steadily to the left;

(Q) by jerks to the left.

44‘ R

Whlch shaft tums  faster?
(ifno dlfference, ar C )

. 45;
'person can hft the 1oad more

easﬂy7
(If no dxfference, mark C)

2k GO ON TO THE NEXT PAGE [
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51.

I which loop is the pilot more likely to
fall out of the plane?
~ (¥no difference, mark C. )

52. .
Which whicel will tirn. faster? .
(If no différ’e:if:e,‘"ﬁ\a:r‘k‘,c.)

53.

In which picture will the spring held
the handle where it is now?

(If both, maxk C)

54.

Which part of the refrigerator is

colder'?
(If no: d:fference mark C.)

AT

55.
As this car picks up speed, the load on
the front wheels is: '
S (A) 1255, [

i (B) greater; -
(C) unchanged.

29 GO ON TO THE NEXT PAGE [
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56.

Which shape container would use less
metal? '
(If equal, mark C)

B T T T NP

57.
Aftgﬁ_ﬁlit; hits the black balL. wfuch way

»

willball “X” go?

58.
Which picture shows how a ski jump is
built?
(If either, mark C.)

59.

" In which jar is the quuid lighter?
(If equal, mark C))

39

60.

With which bicycle can a child climb
the steeper hill?
(If no difference, mark C.)

GO ON TO THE NEXT PAGE [



61.
In which"direction is this .windmil}l

more likely to turn?
(I either, mark C.)

62.

Which pjéture is correct?
(If both, mark C.)

63. .

Which tractor must go further to pull’
the boat up on the beach?
(If no difference, mark C.)

64.

When the water is tumed on, which
way will the sprinkler turn?
(If either, mark C.) ST

695.

In which container will ‘the ice cream
stay hard longer? -
(If no difference, mark C.)

GO ON TO THE NEXT PAGE D
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IE X" moves two feet in the direction
shown, the center of the gear YY" will
move:

(A) more than twc; feet;
(B) less than two feet;
(C) two feet.

67.

In which picture. can you safely put a
heavier weight on the rope?
(If no difference, mark C)

68.

When the small wheel is turned
. around, the big wheel will:
(A) turn in direction A ;
(B) turnin direction B;
(C) move back and forth.

69.
Which shaft will turn most rapidly?

Which picture shows the lamps con-

. nected to give the most light?
(If no difference, mark C.)

S"I'OP. YOU MAY CHECK YOUR WORK ON THIS TEST. DO NOT TURN TO ANY OTHER TEST .
41 '






